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tjuol 2 E3

M/80/I0L/15T/CC

The image not available
=32 7] vlH, 0.25...75.00 m*h, R 1/2" 9

HIg 1D 942 / Bytes 3-174 (hex: 03-AE)

tjylo] A ID 2010010 / Bytes 30-171-154 (hex: 1E-AB-9A)

HIEgolE COM2

24 F7] AZE 7,2 ms

SIO = A Fo=

=5 et e et o

o] g A% o=z

Supported profiles %g%% ; Egi 8§3889X Iﬁ%%éﬁ?%ﬂeogt%lﬁg ICahge?r?rfésl (standard resolution)
Support of I0-Link 1.0 Ho=m

e
E BLC Aol 4 #IE] 1De} Claho] 2 ID7F 21 4]of 9l A9 theo] BAELTh

2HE= QH}]OM Od%%
10-Link o] A#o] 2/dstd } _
o] tufo| A7} T4 Rl g wItE= 7 Qo) o] Z || o] AHEL AL5ho] 715t

E mR A4 g AHo)E S 8 AIA Aol thet AR ElolEl A 28 FasHIAlL.
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Tre) wigt

E%Pato]x%

2 [m’] = MeasurementValue * 1

i = MeasurementValue * 35.3146667
]

% [m’/h] = MeasurementValue *0.01

2 [ft/s] = MeasurementValue *0.043657
ZF [ft?/min] = MeasurementValue *0.00588578
4 [ft’/h] = MeasurementValue * (.353147
2 [m/s] = MeasurementValue *0.0133067
4F [L/min] = MeasurementValue * 0.166667
R

% [bar] = MeasurementValue *0.01

% [psi] = MeasurementValue * (0.145038
4k [kPa] = MeasurementValue 1

2T

Zx [°C) = MeasurementValue *0.01

ZF [°F] = MeasurementValue * 0.018 + 32

E o] 822 [0-Linkel &J3te] A4 raw clo|el2 B2l 4 el 2 Wghshs WE 342 Al B
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Jmi

T2 A2 glolg

T2A|A glojE] YF RecordT (128 Bit)

At 2 Al o] T2 HE] A ARl A-SEE gt
%k 99 [m¥/h] (0 to 10000000) * 0.01

39 [°Cl (0t0 9000) * 0.01
32760 OL - overload) 0x7FF8
32762 cr.OL - critical overload) 0x7FFA
32764 NoData) 0x7FFC

A 2=
w89 [°Cl (-2400 to 7400) * 0.01
-32760 UL - underload) 0x8008
32760 OL - overload) 0x7FF8
-32762 cr.UL - critical underload) 0x8006
32762 cr.OL - critical overload) 0x7FFA
32764 NoData) 0x7FFC

w7 el
7t 9 [bar] (-100 to 2000) * 0.01
-32760 UL - underload) 0x8008
32760 OL - overload) 0x7FF8
32764 NoData) 0x7FFC
T]ubo] A AFE) UlntegerT (4 Bit)
FEOL VY —RT—ZR, TOERXT—EF v YA NVATAZRD[L Y —RAT— X2 ADA 36k a L —
w8 0 tjHol A OK)
1 fA B2} a5
2 A]_odl:oﬂ UP7\] 01—0)
3 7] 22)
4 I

OAg Azo] A 4= [0UT2]

4 false EOFF)
true On)

PR false EOFF)
true On)
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T2 A2 glolg

EEE0|H

Scale FLOW

Offset 6

Scale TEMP

Offset 10

or

é
Scale PRES C| =0~ A Ef RENE! ii % %

1})\}1 A

Offset 14

Scale FLOW: A PLC profile function block calculates the flow value of the process data (from WORD 4) into the profiled unit [m3/h]
Scale TEMP: A PLC profile function block calculates the temperature value of the process data (from WORD 10) into the profiled unit [°C)

Scale PRES: A PLC profile function block calculates the pressure value of the process data (from WORD 14) into the profiled unit [Pa]

HloJE = BlgEnchan iﬂj\ 2 ;d%%qq.
T A X g9 Eﬂ:) PR Oli PSP
PLC 212 Himle] ZIHE = PLC gojg] 3
Hlo| E A ¢ (byte svvap) 7]%% /;:]-7]—5 AA]

Z2AA EHolH & RecordT (8 Bit)

Oxg ASE M"Y [TotaliserInactive]
Fieccl false OFF)

true On)
nla dﬁ‘ﬁ'ﬁa
Offset 0 -
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ul7H 4 Qo

i

Parameter

olg  Amely

ekl

CjBfol A oA 2
H g o] &

e HAE

A=

A& 1D

AE HdAE
NELEL
St=Qo] 7w A
Hello] 4w

ofZ Aol M £ e

Function Tag
Location Tag
tjuto] & A
KA Huto] & Abel
2 A~ ol e
TN A lojE £
P-n

dAP.F

SEL1

SEL2

FOU1

FOU2

Active Events
Param A7 Al
Loc

uni.F

cFL.F

cFH.F

Hi.F

Lo.F

Hi.T

Lo.T

Hi.p

Lo.P

S.0n

S.Tim

S.FLW

S.TMP

S.PRS

oul

ds1

drl

SP1 (FH1) - FLOW
rP1 (FL1) - FLOW
SP1 (FH1) - TEMP

12
16
17
18
19
20
21
22
23

25

26

36

37

40

41

500
510
520
521
531
532
545
546
550
551
555
556
560
561
562
563
564
565
570
571
572
573
574
580
581
582
583
584
585

RecordT (16 Bit)
StringT (3 Byte)
StringT (15 Byte)
StringT (15 Byte)
StringT (15 Byte)
StringT (20 Byte)
StringT (12 Byte)
StringT (2 Byte)
StringT (5 Byte)
StringT (32 Byte)
StringT (32 Byte)
StringT (32 Byte)
UlntegerT (8 Bit)
OctetStringT (3 Byte)
RecordT (128 Bit)
RecordT (8 Bit)
UlntegerT (8 Bit)
UlntegerT (16 Bit)
UlntegerT (8 Bit)
UlntegerT (8 Bit)
UlntegerT (8 Bit)
UlntegerT (8 Bit)
RecordT (32 Bit)

UlntegerT (32 Bit) [10]

UlntegerT (8 Bit)
UlntegerT (8 Bit)
IntegerT (16 Bit)
IntegerT (16 Bit)
IntegerT (16 Bit)
IntegerT (16 Bit)
IntegerT (16 Bit)
IntegerT (16 Bit)
IntegerT (16 Bit)
IntegerT (16 Bit)
UlntegerT (8 Bit)
UlntegerT (8 Bit)
IntegerT (16 Bit)
IntegerT (16 Bit)
IntegerT (16 Bit)
UlntegerT (8 Bit)
UlntegerT (16 Bit)
UlntegerT (16 Bit)
IntegerT (16 Bit)
IntegerT (16 Bit)
IntegerT (16 Bit)

false (&=31A))
IMI
WWW.norgren.com
M/80/I0L/15T/CC
M/80/I0L/15T/CC

Compressed air meter

*kk
K*kk

*kk

0 (5f8}e] £ OK)
0x00,0x00,0x00

0 (OFF)
2 (3 min)
3750
2500

800

3 (Hno / 5| AH| 2] AlA fet normally open)

0
0
1500
1426
1199

12
11
11
11
11
11
11
11
11
11
11
11
23
23

12
12
12
12
12
12
23
24
13
13
13
13
13
13
13
13
14
14
14
14
14
14
14

15
15
15
15
15
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ul7H 4 Qo

Parameter g AjBEQld €lq]

rP1 (FL1) - TEMP 586 IntegerT (16 Bit) 1160 15
SP1 (FH1) - PRES 587 IntegerT (16 Bit) 320 15
rP1 (FL1) - PRES 588 IntegerT (16 Bit) 304 16
ou?2 590 UlntegerT (8 Bit) 1(I/oPdE2 Al1d 4---20 mA) 16
ds2 591 UlntegerT (16 Bit) 0 16
dr2 592 UlntegerT (16 Bit) 0 16
SP2 (FH2) - FLOW 593 IntegerT (16 Bit) 3000 16
rP2 (FL2) - FLOW 594 IntegerT (16 Bit) 2926 16
SP2 (FH2) - TEMP 595 IntegerT (16 Bit) 2400 16
rP2 (FL2) - TEMP 596 IntegerT (16 Bit) 2361 16
SP2 (FH2) - PRES 597 IntegerT (16 Bit) 640 17
rP2 (FL2) - PRES 598 IntegerT (16 Bit) 624 17
ASP?2 - FLOW 630 IntegerT (16 Bit) 0 17
AEP2 - FLOW 631 IntegerT (16 Bit) 7500 17
ASP?2 - TEMP 632 IntegerT (16 Bit) -1000 17
AEP2 - TEMP 633 IntegerT (16 Bit) 6000 17
ASP2 - PRES 634 IntegerT (16 Bit) 0 17
AEP2 - PRES 635 IntegerT (16 Bit) 1600 17
DIn2 676 UlntegerT (8 Bit) 2 (+EDG) 17
diS.U 800 UlntegerT (8 Bit) 2(d3/ =) 18
diS.R 801 UlntegerT (8 Bit) 0(0°) 18
diS.B 802 UlntegerT (8 Bit) 75 (75 %) 18
diS.L 803 UlntegerT (8 Bit) 5(L3.TP) 18
coL.F 810 UlntegerT (8 Bit) 16 (bk/wh / S 2 314 7 18
col.T 811 UlntegerT (8 Bit) 16 (bk/wh / 54 9l 314 Z}) 18
coL.P 812 UlntegerT (8 Bit) 16 (bk/wh / &4 2 314 7 19
coL.V 813 UlntegerT (8 Bit) 16 (bk/wh / 54 9l 314 Z}) 19
uni.T 841 UlntegerT (8 Bit) 0 (°C) 19
uni.P 842 UlntegerT (8 Bit) 1 (bar) 19
cFL.T 861 IntegerT (16 Bit) -1000 19
cFL.P 862 IntegerT (16 Bit) -100 19
cFH.T 871 IntegerT (16 Bit) 6000 19
cFH.P 872 IntegerT (16 Bit) 1600 19
dAP.P 881 UlntegerT (16 Bit) 6 20
rEF.P 3000 IntegerT (16 Bit) 1013 20
rEF.T 3001 IntegerT (16 Bit) 15 20
LFC 3006 IntegerT (16 Bit) 10 20
TOTL_M 3014 Float32T 20
rTo - Totaliser reset t... 3015 IntegerT (16 Bit) 0 (OFF) 21
TOTL_T 3016 IntegerT (32 Bit) 21
ImPR1 3060 UlntegerT (8 Bit) 1 (YES) 21
ImPS1 3068 Float32T 0.0001 21
ImPR2 3160 UlntegerT (8 Bit) 1 (YES) 21
ImPS2 3168 Float32T 0.0001 22
coF 5001 IntegerT (16 Bit) 0 22
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si7A ¥4 ok

Parameter

MDC Descr 16512
lowerLimit 16512
upperLimit 16512
unitCode 16512
scale 16512

N N S

RecordT (88 Bit)
IntegerT (32 Bit)
IntegerT (32 Bit)
UlntegerT (16 Bit)
IntegerT (8 Bit)

22
25 (25)

7500 (7500)

1349 (m*/h)

2 (-2)
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Al 2E

gﬁ%ﬂﬂlollﬁ%f %’4’5&:&% RIEjH|o] A 3 AR 142 27 759 &5l Heet & YEb Ut System
ommand information:

- Address:  Index 2, Subindex 0

- Datatype: Ulnteger (8 Bit)

- AccessRight: Write Only

# Text A

1 Upload Start Start block parameter upload

2 Upload End End block parameter upload

3 Download Start Start block parameter download

4 Download End Stop block parameter download

5 Store Finalize block parameterization and start Data Storage
6 Break Cancel block parameterization

130 S 5

161 [Hi.F] 2 [Lo.F] Wl=g Al
162 [Lo.F] #|=2] 2l

163 [Hi.F] W22 gAl

164 RESET_TOTALIZER

165 [HL.T] 2 [Lo.T] =g Al
166 [Lo.T] ml= 2] 24l

167 [HI.T] Wl=g A

176 AlZelold A2

177 AlEeolAl FA]

208 RESET_HI_LO_PRESS
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A AE HY

M

209

210

222

223

240

241

242

243

RESET_LO_PRESS

RESET_HI_PRESS

fate}
i}
offt
O
5

™
=}
oifl
o
—

10 Link 1.1 A|AE] EH|AE 5] 240, o|HIE

8DFE UeRe

10 Link 1.1 A| 28] B|AE 1§58 241 oJHIE
8DFE At2}d

10 Link 1.1 A28 E|AE W& 242 oJHlE
8DFF LR

1033 1.1 AAHE EHAE o] 243 ofHil
E 8DFF7} Atk
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Subindex 0 StringT (3 Byte) ReadOnly

Subindex 0 StringT (15 Byte) ReadOnly

HOEE WWW.norgren.com

A& A=A 18 Subindex 0 StringT (15 Byte) ReadOnly
A A E
HEE M/80/I0L/15T/CC

A& ID g4 19 Subindex 0 StringT (15 Byte) ReadOnly
HE 54 A1F £ B A (5 RS B 24 RS9
gee M/80/I0L/15T/CC

Subindex 0 StringT (20 Byte) ReadOnly

HOEE Compressed air meter

Al e H | Subindex 0 StringT (12 Byte) ReadOnly
% tlvfol 2] ng3 W] &4 Azt

St=glo] =AHA Subindex 0 StringT (2 Byte) ReadOnly
R CEC L CE

r°l'
_‘TL
Am
oX,
>
E
By

o] £ ] StringT (5 Byte)
7 cluto] & Helof 4w o] LAt HlE 57 AEat

ojZgjAlold 4 Bl i StringT (32 Byte) ReadWrite
A8} ol B old £ AU 2 Cleol 28 54l & 4 AUt
gsE

Function Tag QlElA 25 Subindex 0 StringT (32 Byte) ReadWrite
S]H}Ol/‘ 7)ol ok s -

Location Tag Qe A 26 Subindex 0 StringT (32 Byte) ReadWrite
gfﬂzi Cjuto] 2 Q)] o thgh AT
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tjulo] A PN A Qe A 12 Subindex 0 RecordT (16 Bit) ReadWrite

tjutol A mpetuEfof] thet YA A= of mhefH| el tiol A 2 det S g o= Alekd 4= s Ut

OEE false
bitOffset 2 =27 oo g st o] Zra HA| & Qlsto] tluo| A9l 27 A5 Q AF Foto] tjHfo] A Ago]
Fch true =)

false (Zr=siA)

2

Qg A 500 Subindex 0 UlntegerT (8 Bit) ReadWrite

P-n
A9H E2HS Js =8 F=F4

1l

OEE 0 (PnP)
89 0 EPnPg
1 nPn

olgA 510 Subindex 0 UlntegerT (16 Bit) ReadWrite

k99 [s] (0to 50) * 0.1
Qg A 520 Subindex 0 UlntegerT (8 Bit) ReadWrite
UEE 1 (FLOW)
Fich 1 FLOW)
2 TEMP)
3 PRES)

SEL2 Qg A 521 Subindex 0 UlntegerT (8 Bit) ReadWrite

[OUT 2] &3 H7HE flst 549 A=
OEE 1 (FLOW)
PR 1 FLOW)
2 TEMP)
3 PRES)

FOU1 olglA 531 Subindex 0 UlntegerT (8 Bit) ReadWrite

Q20| 42 [OUT 1] 2-&

OEE 4 (OFF)
2t el 1 ou)
2 On)
4 OFF)
FOU2 Qld|A 532 Subindex 0 UlntegerT (8 Bit) ReadWrite
L70] 49 [0UT 2] 4-&
gz= 4 (OFF)
o 94 1 ou)
2 On)
4 OFF)
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e e |

QlEl A 550 Subindex 0 UlntegerT (8 Bit) ReadWrite

[LOC] © 2 o|&=51A] g2 WS WA 9l A AREAF Al EfE|o] A5 FFU T [Loc]2 HHfo| Ao A7 € 4 AsU T
OEE 1 (uLoc)
Zk 99 0 ELOC)
1 ulLoc)
Qg A 551 Subindex 0 UlntegerT (8 Bit) ReadWrite
EJ%E 0 (m*h)
%Y 0 m®/h)
% L/m)m)
3 fto/h)
4 ft*/min)
5 ft/s)
cFL.F Qg A 555 Subindex 0 IntegerT (16 Bit) ReadWrite
A el A W3} 5HetA. ¢FL.F= cFH.F B} gfotof gt 24 #2| cFH.F...cFL.F ===> cFH.F
EJ%E 28
Zk 99 [m®/h) (28 to 7460) * 0.01
H.F QlE| A 556 Subindex 0 IntegerT (16 Bit) Readerte
Ao% A} W7 3k 58, cFH.FE cFL.F B} o Aok @yt 24 Az cFH.F...cFL.F = 0.37 m*/h. AMg A¥A & F=25H4
HEE 7497
@ 99 [m?/h] (65 to 7497) * 0.01
Hi.F Qg A 560 Subindex 0 IntegerT (16 Bit) ReadOnly

| =2 gk

= Ho
of oft
12 oo

g5 b
— =2

(0 to 9000) * 0.01

32760 OL - overload) 0x7FF8
32762 cr.OL - critical overload) 0x7FFA
32764 NoData) 0x7FFC

ol A 561 Subindex 0 IntegerT (16 Bit) ReadOnly
FHE 34wzt
299 [m?/h] (0 to 9000) * 0.01
32760 OL - overload) 0x7FF8
32762 cr.OL - critical overload) 0x7FFA
32764 NoData) 0x7FFC
Hi.T Qg A 562 Subindex 0 IntegerT (16 Bit) ReadOnly
28 2o =gt
B9 [°Cl (-2400 to 7400) * 0.01
-32760 UL - underload) 0x8008
32760 OL - overload) 0x7FF8
-32762 cr.UL - critical underload) 0x8006
32762 cr.OL - critical overload) 0x7FFA
32764 NoData) 0x7FFC
Lo.T Qg A 563 Subindex 0 IntegerT (16 Bit) ReadOnly
28 24 w2yt
B9 [°Cl (-2400 to 7400) * 0.01
-32760 UL - underload) 0x8008
32760 OL - overload) 0x7FF8
-32762 cr.UL - critical underload) 0x8006
32762 cr.OL - critical overload) 0x7FFA
32764 NoData) 0x7FFC
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Hi.P QlE|A 564 Subindex 0 IntegerT (16 Bit) ReadOnly

25§ o =gt

99 [bar] (-100 to 2000) * 0.01
-32760 UL - underload) 0x8008
32760 OL - overload) 0x7FF8
32764 NoData) 0x7FFC

Lo.P QA 565 Subindex 0 IntegerT (16 Bit) ReadOnly

UHE |4 o= 2gh

- 9 [bar] (-100 to 2000) * 0.01
-32760 UL - underload) 0x8008
32760 OL - overload) 0x7FF8
32764 NoData) 0x7FFC

S.0n Qg A 570 Subindex 0 UlntegerT (8 Bit) ReadOnly

AlE2o]d S

SES 0 (OFF)
o 94 0 EOFF)
1 On)
oldlA 571 Subindex 0 UlntegerT (8 Bit) ReadWrite
HEE 2 (3 min)
39 0 1 min
1 2 min
2 3min
3 4 min
4 5 min
5 10 min
6 15 min
7 20 min
8 30 min
9 45 min
10 60 min
S.FLW ol A 572 Subindex 0 IntegerT (16 Bit) ReadWrite
FF AlEelold
HEE 3750
% 99 (m*/h] (25 to 9000) * 0.01
32760 EOL - overload) 0x7FF8
32762 cr.OL - critical overload) 0x7FFA
olglA 573 Subindex 0 IntegerT (16 Bit) ReadWrite
UEE 2500
B9 [°Cl (-2400 to 7400) * 0.01
32760 OL - overload) 0x7FF8
32762 cr.OL - critical overload) 0x7FFA
-32762 cr.UL - critical underload) 0x8006
-32760 UL - underload) 0x8008
S.PRS QlE|A 574 Subindex 0 IntegerT (16 Bit) ReadWrite
o2l A geol4d
UEE 800
7t 9 [bar] (-100 to 1680) * 0.01
32760 (OL - overload) 0x7FF8
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s}z

oul Qld A 580 Subindex 0 UlntegerT (8 Bit) ReadWrite
=9 74 [OUT 1]
OEE 3 (Hno / 8]2H8] Al fct normally open)
99 Hno / 8] 2| 2] Al A fct normally open)

3

4 Hnc / 3| AE|2]A] A fet normally closed)
5 Fno /9% fct normally open)

6 Fnc / 1= fct normally closed)

9 ImP /g F2)

1 =

olgA 581 Subindex 0 UlntegerT (16 Bit) ReadWrite

w39 [s] (0to 600) * 0.1
Qg A 582 Subindex 0 UlntegerT (16 Bit) ReadWrite
OEE 0
o 9q [s] (0to 600) * 0.1
SP1 (FH1) - FLOW Qlg|A 583 Subindex 0 IntegerT (16 Bit) ReadWrite

AQXEQIE 1 /9% SP1E rP1 B} o #Hof 3t 24 #2] SP1...rP1 = 0.37 m%h. At& AWA S F2HAAI L
e 1500

9 [m*/h] (65 to 7497) * 0.01
rP1 (FL1) - FLOW QlEl A 584 Subindex 0 IntegerT (16 Bit) ReadWrite
YAl ZRIE 1/ 5% rPl= SP1 B} Zotof gttt 24 72| rP1...SP1 ===> SP1
bEgE 1426
Zk 99 [m®/h) (28 to 7460) * 0.01
SP1 (FH1) - TEMP QlE A 585 Subindex 0 IntegerT (16 Bit) ReadWrite
A IQIE 1/ %, SP1ErP1 Bt o #of guch 4 718] SP1...rP1 = 0.20 °C. AbE A A E Z=R5H4AI2
S E3-} 1199
B9 [°Cl (-980 to 6000) * 0.01
rP1 (FL1) - TEMP old|A 586 Subindex 0 IntegerT (16 Bit) ReadWrite
Al ZQIE 1/ 2%, rP1+ SP1 B} &Hofof st 2|4 A2 rP1...SP1 ===> SP1
OEE 1160
99 [°C] (-1000 to 5980) * 0.01
SP1 (FH1) - PRES olgl A 587 Subindex 0 IntegerT (16 Bit) ReadWrite

AQHEQIE 1 /Y48, SP1= rP1 B} o Aok sttt &4 A2 SP1...rP1 =0.08 bar. AF& AW A E FxsHAA| 2
fZE 320

%k 9 [bar] (-92 to 1600) * 0.01

15/26



Qg A 588 Subindex 0 IntegerT (16 Bit) ReadWrite
g A ZRJAE 1 /4. rP1E= SP1 Er} Zofof gt 24 A& rP1...SP1 ===> SP1

UEE 304
Zk 99 [bar] (-100 to 1592) * 0.01
ou2 olgA 590 Subindex 0 UlntegerT (8 Bit) ReadWrite
=9 74 [OUT 2]
OEE 1 (I/°Fd2 A1 4--20 mA)
w3 3 Hno / 5] AE|Z Al A fet normally open)
4 Hnc / 5| AH|2]A| A fet normally closed)
5 Fno / Y& fct normally open)
6 Fnc / Y& fct normally closed)
9 Imp/EA &
14 In.D/HAg ¢J3)
16 OFF / 294 Off)
1 [/ o &1 A1 4--20 mA)
ds2 olglA 591 Subindex 0 UlntegerT (16 Bit) ReadWrite
£ st A% A [OUT2]
OEE 0
99 [s] (0 to 600) * 0.1
dr2 QA 592 Subindex 0 UlntegerT (16 Bit) ReadWrite
S 95t switch off A|A[OUT2]
bOEE 0
99 [s] (00 600) * 0.1

|

SP2 (FH2) - FLOW QlglA 593 Subindex 0 IntegerT (16 Bit) ReadWrite

AR IERQIE 2 / 88k SP2=rP2 B}t 7okt XA 78] SP2...rP2 = 0.37 m®/h. AFE AHAE FRHAA L
k=3 3000

99 [m*/h] (65 to 7497) * 0.01
rP2 (FL2) - FLOW Qld| A 594 Subindex 0 IntegerT (16 Bit) ReadWrite
2l Al IO E 2 / 57, rP2+= SP2 Ert Atofof Yt} X4 712 rP2...SP2 ===> SP2
==2=1 2926
o 99 [m?/h] (28 to 7460) * 0.01
SP2 (FH2) - TEMP QlgA 595 Subindex 0 IntegerT (16 Bit) ReadWrite

AL ZRIE 2 / %, SP2E= rP2 B} o] Aok yth 2|4 A SP2...rP2 = 0.20 °C. AF& ATHA S IR A2
CZE 2400

k99 [°C) (-980 to 6000) * 0.01
rP2 (FL2) - TEMP Qg A 596 Subindex 0 IntegerT (16 Bit) ReadWrite
A ZRIE 2 / &, rP2+= SP2 B} Zofok sttt 2 A Ag] rP2...SP2 ===> SP2
fZE 2361
B9 [°Cl (-1000 to 5980) * 0.01



Om
el

SP2 (FH2) - PRES QlglA 597 Subindex 0 IntegerT (16 Bit) ReadWrite

AQIXZRIE 2 /. SP2= P2 Bt i Aok gtk 24 72 SP2...rP2 = 0.08 bar. AFH& AW A S ZFE5HAA]| 2
gEE 640

o B [bar] (92 to 1600) * 0.01
rP2 (FL2) - PRES Qld|A 598 Subindex 0 IntegerT (16 Bit) ReadWrite
Al ZQIE 2 / 4. rP2+= SP2 B} Ztofof dhct. |4 72 rP2...SP2 ===> SP2
OZE 624
4 9 [bar] (-100 to 1592) * 0.01

ASP2 - FLOW Qg A 630 Subindex 0 IntegerT (16 Bit) ReadWrite
ofdE 0 A& ZQIE 2 / §7F ASP2= AEP2 Er} Zrolof ghuth, A 72] ASP2...AEP2 = 15.00 m®/h. AF& AP A S FZREAA L.
0

Zk 99 [m®/h) (0 to 6000) * 0.01

AEP2 - FLOW Qg A 631 Subindex 0 IntegerT (16 Bit) ReadWrite
OFS R HF HQIE 2/ % AEP2E= ASP2 Hr} o Z]oF Ut &4 7] ASP2...AEP2 ===> ASP2. AF& A S FZHA 2.
OEE 7500

% 9 [m*/h] (1500 to 7500) * 0.01

ASP2 - TEMP olgA 632 Subindex 0 IntegerT (16 Bit) ReadWrite

obgZ I AJZ} EQIE 2 / 2. ASP2E= AEP2 Rt} ook gttt 2|4 A2] ASP2...AEP2 = 14.00 °C. Ab& AP A S FRAA| 2.
OEE -1000

9 [°C) (-1000 to 4600) * 0.01

AEP2 - TEMP QA 633 Subindex 0 IntegerT (16 Bit) ReadWrite

ofFE 2T HQIE 2/ 2%, AEP2+ ASP2 B} o oF Yt} 24 2] ASP2... AEP2 ===> ASP2. AL ARPAE ZR5H Al L.
bEgE 6000

99 [°C) (400 to 6000) * 0.01

ASP2 - PRES QlE|A 634 Subindex 0 IntegerT (16 Bit) ReadWrite

ofd 2 AIZ IOIE 2/ 42l ASP2= AEP2 Bt} Ztofok ghUth |4 78] ASP2...AEP2 = 3.20 bar. Ab& A A S IF25HIAI L.
0

B [bar] (-100 to 1280) * 0.01

AEP2 - PRES QA 635 Subindex 0 IntegerT (16 Bit) ReadWrite

opFE T XE EQIE 2 /U AEP2= ASP2 Hr} ] Ao gt 2| A A2 ASP2...AEP2 ===> ASP2. A& YA S ZZ34IA| L.
HEE 1600

4 9 [bar] (220 to 1600) * 0.01
DIn2 A 676 Subindex 0 UlntegerT (8 Bit) ReadWrite
EgelolAel A4 L e TiAE A2 (7 2)9] 74
gEE 2 (+EDG)

o 94 2 +EDG)
3 -EDG)
0 HIGH)
1 LOW)



QI A 800 Subindex 0 UlntegerT (8 Bit) ReadWrite

39 0 dl/w=
1 d2 /=3¢
2 d3/ =%

olg A 801 UlntegerT (8 Bit) ReadWrite

PR 0 0°)
1 90°)
2 180
3 270°

Qg A 802 Subindex 0 UlntegerT (8 Bit) ReadWrite

OEE 75 (75 %)
PR 25 25 %
50 50 %
75 75 %

100 100 %)
0 OFF)

Qg A 803 Subindex 0 UlntegerT (8 Bit) ReadWrite

R HaZeolo] 2427 e

HEE 5 (L3.TP)
k4 0 Ll)
1 L2.Temp)
2 L2.Pres
3 1.2.Totl)
5 L3.TP)
6 L4)
coL.F QA 810 Subindex 0 UlntegerT (8 Bit) ReadWrite
a8 4 84/
HEE 16 (bk/wh / 24 9L &M )
e 16 bljwh / 54 81 144 gF)
17 red / TEA|2A g A Al
18 green / A1 %k)}
20 yellow / A gh) i
10 r-cF | SAgko] A-f-57 g old 4 9= AL [cFL.FI [cFH.F] ARelell 9= 7
o e H gre Aol
1 (G-cF / 24 3ko] -5 H9)E 4= = SHAIZk [cFL.FI3 [cFH.F] Abeloll & 74
% w2 ghe gl
coL.T Qg A 811 Subindex 0 UlntegerT (8 Bit) ReadWrite
A T 2=
HEE 16 (bk/wh / 24 9L &M )
e 16 bljwh / 54 81 Z1 A4 gF)
17 red / TEA|2A g A Al
18 green / A1 %k)}
20 yellow / A £h) i
10 r-cF | Z4gko| A-q-84 429 4 = AL [cFL.T]Z [cFH.T] Atolol & 73
o el gre Aol
1 (G-cF / 247p0] A5 HOIE 4 Qs @12k [cFL.V]ZH [cFH.V] Afolefl 8l 7
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Om

s}z

coL.P QlE|A 812 Subindex 0 UlntegerT (8 Bit) ReadWrite
A T o
tEE 16 (bk/wh / E2 9 34 Z})
2 el 16 bkjwh / Z41 9 314 7h)
17 red / T2 A2 FF A A)
18 green / 52 %b»
20 yellow / A gk N
10 r-cF /| S74¢0] 2kg-5A Fold 4= ol SHAIGE [cFL.PJ2t [cFH.P] Atololl = 7
o wg s gre Aol Uty
11 (G-cF | &733ko] A-a-5A 492 4 = AR [cFL.PJT} [cFH.P] Atolol] Q1= 7
9 TR2AA GRS HAdU

Qg A 813 Subindex 0 UlntegerT (8 Bit) ReadWrite
A2 A EgEtolA
=E-35 16 (bk/wh / 524 91 g4 31
23 16 bk/wh / 341 9 5149 7
s 17 VA Y
18 green / A 4 )F
20 yellow / A 4y
uni.T olgA 841 Subindex 0 UlntegerT (8 Bit) ReadWrite
A Aol 2=
SE3 0 Q)
Fachs 0 EC?
1 °F
Qe A 842 Subindex 0 UlntegerT (8 Bit) ReadWrite
gE= 1 (bar)
Fachs 0 kPa)
1 bar)
2 psi)
Qg A 861 Subindex 0 IntegerT (16 Bit) ReadWrite
25 gto] M ¥igke] 58t cFL.T+= cFH.T 2o} Zotof it &4 712] cFH.T...cFL.T ===> cFH.T
OZE -1000
B9 [°Cl (-1000 to 5965) * 0.01
cFL.P olgA 862 Subindex 0 IntegerT (16 Bit) ReadWrite
%re_:! %he] A4 wigke] 5hgt. ¢FL.Pw= cFH.P Eot Zofof gt} 2|4 A 2] ¢cFH.P...cFL.P ===> cFH.P
SE -100
% 9 [bar] (-100 to 1592) * 0.01
cFH.T QldA 871 Subindex 0 IntegerT (16 Bit) ReadWrite

2= 7ol A W3} 44t cFH.T+= cFL.T Bt} of #Hok sttt 2|4 8] ¢FH.T...cFL.T = 0.35 °C. AF-& APA & FRe4A 2
HEE 6000

k99 [°C) (-965 to 6000) * 0.01

cFH.P ol A 872 Subindex 0 IntegerT (16 Bit) ReadWrite
e Zto] Al W3k gt cFH.PE cFL.P 2o} o] #{of @), 2|4 718] cFH.P...cFL.P = 0.08 bar. AM& AP A E FEsHIAl2
SE-3-1 1600
o B [bar] (92 to 1600) * 0.01
19/26



ol A 881

6

o 9q [s] (0 to 500) * 0.01
rEF.P Ql= A 3000
RE =24 9 ws ghof sk 7|& 4
bOEE 1013
% 9 [mbar] (950 to 1050) * 1
rEF.T Qg A 3001

TOTL_M

At 2 Al o] AR
& 9 [m]

(0to25)* 1

ol A 3006

10

(9 to 80) * 0.01

ol A 3014

(0 to 10000000) * 1

Subindex 0

Subindex 0

Subindex 0

Subindex 0

Subindex 0

UlntegerT (16 Bit)

IntegerT (16 Bit)

IntegerT (16 Bit)

IntegerT (16 Bit)

Float32T

ReadWrite

ReadWrite

ReadWrite

ReadWrite

ReadOnly
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Qg A 3015 Subindex 0 IntegerT (16 Bit) ReadWrite

0 (OFF)

N

WMHO\DOO\IO\UW-PLUN)—‘OD_-UAD—AD—-TD—‘D—'U'D-‘FQ

~
(e}
=
O
N BN e N S e S S S S (e i Vo AN o N NGO Sy
[eNeNeNeNaNaH

Qg A 3016 Subindex 0 IntegerT (32 Bit) ReadOnly

Egebo] A4S 2% 24 o] o] Hikg] Al
4 9 [min] ((1) to 10000000) * 1

(unknown)

ImPR1 ol A 3060 Subindex 0 UlntegerT (8 Bit) ReadWrite
Y vhe 8443 (= BA £3) T+ 828443} (= preset O] 7] %)
gEE 1 (YES)

o 94 1 EYES)
0 no)

ImPS1 oldA 3068 Subindex 0 Float32T ReadWrite

gk
fEe 0.0001

o 99 [m?] (0.0001 to 1000000) * 1

ImPR2 ol A 3160 Subindex 0 UlntegerT (8 Bit) ReadWrite

A R EA45 (= "2 £2Y) T ¥ 243 (= preset [E] 7]5)
tEE 1 (YES)

&Y 1 EYES)
0 no)
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Om

ImPS?2 o] A 3168 Subindex 0 Float32T ReadWrite
Az
EE 0.0001
@ 9 [m?) (0.0001 to 1000000) * 1
coF olgA 5001 Subindex 0 IntegerT (16 Bit) ReadWrite
A& EQIE ZHa]Hejo]
(A Beo] A &Al)
OEE 0
Zk 999 [bar] (-80 to 80) * 0.01
MDC Descr ol A 16512 Subindex 0 RecordT (88 Bit) ReadOnly
=7 dlolE] 2 dof| st A
lowerLimit Subindex 1 IntegerT (32 Bit)
sklgk S
BES 25 (25)
o 9d 25 (25)
upperLimit Subindex 2 IntegerT (32 Bit)
e SRS
HEE 7500 (7500)
PR 7500 (7500)
unitCode Subindex 3 UlntegerT (16 Bit)
Z4 dlolEo fH ZE
SE:33 1349 (m®/h)
zk g 1349 (m®/h)
scale Subindex 4 IntegerT (8 Bit)
2|Q17] o] (10 &3)
bEE 2 (2)
Fachs -2 (-2)
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Om

A
tjHlo] A ALY Qg A 36 Subindex 0 UlntegerT (8 Bit) ReadOnly
A7) tjufo] A 221 9l X FElE QI5E H A7)
SEE) 0 (cjitol 2 OK)
e 0 tjijo]2 0K)
1 £3589} & 7
2 Kool b or'e)
z 1
FAIE TjHto] A /€] ol A Subindex 0 OctetStringT (3 Byte) [11]  ReadOnly
tjHfo] Ao A AR BHRFQ BE o[HIE BE
SE-3=Y 0x00,0x00,0x00
Active Events QI A 545 Subindex 0 RecordT (32 Bit) ReadOnly
A 7S o|HIEL] bit HfAT
bitOffset 31 (0x8DFF) E|AE o[HIE 2. tjHlo] A el = 1 (FRIE47F Hash
bitOffset 30 (0x8DFE) E|AE o[HIE 1. tjHjolA AJEl] =1 (FRIE47F Egh
bitOffset 29 (0x8CDB)  ZEHA| AlHA EAS Hulo] A AJE) =1 (FAES7E Hadh
bitOffset 18 (0x5010) TAELA I
bitOffset 17 (0x8C20) =7 W] =
bitOffset 16 (0x8C01) AlEgo] A /g3t
bitOffset 9 (0x8C30) 7HH Fol mjgE Z=AA L
bitOffset 8 (0x8C10) 7H G2 gold Z2AA 2
bitOffset 2 (0x7710)  &E
bitOffset 1 (0x6320) et E @ F
bitOffset 0 (0x5000) tjHfo] Ao st=go] @7 &
false o[HIE H|Z/
31 30 29 18 17 16 9 & 2 1 0
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M

QI A 546 Subindex 0 UlntegerT (32 Bit) [10] ReadOnly

gE= 0 (OK)
k4 0 K)}

786432 cjefo] A AN A % Index = 12)
38469632 SP1 (FH1) - PRES Index 587)
38207488 SP1 (FH1) - FLOW Index = 583)
38338560 SP1 (FH1) - TEMP, "Tndex = 585)
38535168 rP1 (FL1) - PRES, Index = 588)
38273024 rP1 (FL1) - FLOW Index = 584)
38404096 rP1 (FL1) - TEMP, "Tndex = 586)
201064448 ImPS1, Index = 3068)
200540160 ImPRl Index = 3060)
41549824 ASP? - PRES Index = 634)
41287680 ASP?2 - FLOW Index = 630)
41418752 ASP2 - TEMP, "Tndex = 632)
41615360 AEP2 - PRES, "Tndex = 635)
41353216 AEP2 - FLOW Index = 631)
41484288 AEP2 - TEMP, "Tndex = 633)
39124992 SP2 (FH?2) - PRES Index = 597)
38862848 SP2 (FH2) - FLOW Index = 593)
38993920 SP2 (FH2) - TEMP, " Tndex = 595)
39190528 rP2 (FL2) - PRES, Index = 598)
38928384 rP2 (FL2) - FLOW Index = 594)
39059456 P2 (FL2) - TEMP, "Index = 596)
207618048 ImPS2, Index = 3168)
207093760 ImPRZ Index = 3160)
44302336 DIn2, Index = 676)
197591040 rTo - Totahserresettlme Index = 3015)
34078720 SEL1, Index = 520)
38010880 oul, Index = 580
38076416 dSl Index = 581
38141952 drl Index = 582)
34799616 FOUl Index = 531)
34144256 SEL2, "Index = 521)
38666240 ou?2, Index = 590
38731776 dSZ Index = 591
38797312 er Index = 592)
34865152 FOUZ Index = 532)
36110336 uni. F Index =551
55115776 uni. T Index = 841
55181312 uni. P Index = 842
33423360 dAP. F Index =510
57737216 dAP. P Index = 881
32768000 P-n, Index = 500)
197001216 LFC Index = 3006)
196608000 rEF. P Index = 30003
196673536 rEFT Index = 3001
327745536 coF, Index = 5001)
52625408 diS. L Index = 803)
52428800 diS. U Index = 800)
52494336 diS. R Index = 801
52559872 diS. B Index = 802
53084160 coL. F Index = 810)
36438016 cFH. F Index = 556)
36372480 cFL.F, IndeX 555;
53149696 coL. T Index =811
57081856 cFH. T Index = 871)
56426496 cFL.T, "TIndex = 861
53215232 coL. P Index = 812
57147392 cFH. P Index = 872)
56492032 cFL.P, "TIndex = 8623
53280768 coLV Index =813
37486592 S. FLW Index =572
37552128 S. TMP Index =573
37617664 S.PRS, ‘Index = 574
37421056 S. Tlm Index =571
36044800 Loc, Index = 550)
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ojHlE
IT  tjulo] A ArE] PQ* Class o|& A7

0x5000 4 (A=) invalid Error tjulo] Ao tEQ0] 2.7 S tjulo] A gt

20480d

0x5010 3 (715 &<) valid  Error T4 1A sE]atAL B nE Al Q.

20496d

0x6320 3 (75 &%) invalid Error atetu g ofj2] HolE Al E 9 F-& SISt Al 2.

25376d

0x7710 3 (715 &<) valid  Error AE A5 FRlsHdAl L.

30480d

0x8C01 3 (7] &9Ql) valid Warning Aol d 243t SAREES SIS A 2.

35841d

0x8C10 2 (AFFoll 9k2] &k-5)  wvalid  Warning T2AA S QA 2 AFY T2 A A glolg 24

35856d

0x8C20 3 (715 &9Ql) valid  Error Z74 21A 214 ojZ Aol & ERlst Al 2.

35872d

0x8C30 2 (AF¥o]l 9bx| 928)  valid  Warning B R PN R TR = mE A2 glo|E Bk

35888d

0x8CDB 1 (RAHE47F 274) valid Warning EA A EA A5 utol A e ZafA] Al A B E/dSt

36059d =1 (FAESs7HHL3

0x8DFE 1 (fAE47F 27%H) valid Warning E|AE o|HlE 1 tjHlo]A AR =1 3} 2400] T3t QIElA 2 Al o] 7 Q o|H E T}

36350d (FA R a9 LERAL gh 2410f] ok QI A 2 7 o] 7%
oWl E7F Atz Yt

0x8DFF 1 (fAE47F 27%F) valid Warning B AE o[HIE 2 Tlulo]A A =1 g} 2420] tfjst QI A 2 A o] HQ o|HIEV]

36351d ERER - UrERAT, 2F 2430] Tk QlEla 2 O] e
oWl EZF Atz YTt

E 2743t gutol s A S ek 7] gjste] Hutol 2 o)Al o IES BaFh Tt
=
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o e

O

A=
0x8000
32768d

0x8011
32785d

0x8012
32786d

0x8020
32800d

0x8021
32801d

0x8022
32802d

0x8023
32803d

0x8030
32816d

0x8033
32819d

0x8034
32820d

0x8035
32821d

0x8036
32822d

0x8040
32832d

0x8041
32833d

0x8082
32898d
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